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Pseudo homework Solutions University of Pittsburgh -~ Computer Science Department
CS5441 - Discrete Structures for Computer Science
Instructor: Dr.Litman

Problem from Section 2.4

a) The terms of this sequence alternate between 2 (if j is even) and 0 (if 7 is odd). Thus the sum is
240+2+0+2404+240+2=10.

b} We can break this into twg_)"_'parts and cm}ﬁmte (Z?:o 37) - (E?:o 27). Each summation can be computed
from the formula for the sum of a geometr  progression. Thus the answer is

-1
T —p T = 9841~ 511= 9330,
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eak this into two parts and compte (37=023)+(X;m0 3-27). Each summatic
can be computed from the formula for the sum of a geometric progression. Thus the answer s

— 3 _ 10682 + 1533 = 21215.

d) This could be_i".V\Vrorkec"i;aéf'in;part (b}, b . it is easier to note that the sum telescopes (see Exercise 13
Each power of 2 ‘.Ca‘ncels;gic,gpt for the‘—2£’ “when § = 0 and the 2° when j = 8. Therefore the answer
99 _ 90 = 511. (Alternatively, note that 273 — 27 = 27.)

a) (1-1)+(1-2)+ @8N+ 2-2FB-1)+3B-2=3 _
{340)+ (342) +(3+4) +(84+0) +(6+2) + (6+4) + (9+0) +(9+2) +{0+4) =i




